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Graphs of Polar Equations

Symmetry

About trze E>}<)—axis = replacing (r,6) with (1,-6) produces equivalent equation

(r,-0)
About the y-axis = replacing (r6) with (-1,-6) produces equivalent equation




Polar Equations

limacon r=a+xbcost
a>b a=b
: cardioid

lemniscate r2==a cos (26)

D

rose r = a cos (nb)

r=axbsinb
a<b

)

r2=+asin (26)

r = asin (nb)
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EX 1 Sketch a graph of the given polar equations.

a) r=4sinb

Ccle.
(goes Hrrongh origi)
v]|O
N

0|0

b) r= -16 cos(26)
( rese) N°Z

= Y _Leawes
%0 Cpeteis)
b| 74
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C) r= 4-3sin6
L'uv\aam 4=4, b=3




e) r =2 \2sin 6
Cev dioid

v

e
O\,
2(z 31
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f) = 4 cos(20)

Romni seate
e
=2 O .
H— r=-y
O\




Conclusion
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